# Carleman's Inequality Over The Values Of Euler Function And Sum Of Divisors Function* 

Mehdi Hassani ${ }^{\dagger}$

Received 20 July 2018


#### Abstract

In this paper we study Carleman's inequality over the values of Euler function, sum of divisors function, and their reciprocals. We show that the constant of Carleman's inequality over the values of these functions is not the best possible.


## 1 Introduction

For positive real numbers $a_{1}, \ldots, a_{n}$, Carleman's inequality [7] asserts that

$$
\begin{equation*}
\sum_{k=1}^{n}\left(a_{1} \cdots a_{k}\right)^{\frac{1}{k}} \leqslant \mathrm{e} \sum_{k=1}^{n} a_{k} \tag{1}
\end{equation*}
$$

The constant e is the best possible. Based on the results in [5], recently in [2] we have studied Carleman's inequality over prime numbers and over reciprocal of the prime numbers, by proving

$$
\frac{\sum_{k=1}^{n}\left(p_{1} \cdots p_{k}\right)^{\frac{1}{k}}}{\sum_{k=1}^{n} p_{k}}=\frac{1}{\mathrm{e}}+O\left(\frac{1}{\log n}\right) \quad \text { and } \quad \frac{\sum_{k=1}^{n}\left(\frac{1}{p_{1}} \cdots \frac{1}{p_{k}}\right)^{\frac{1}{k}}}{\sum_{k=1}^{n} \frac{1}{p_{k}}}=\mathrm{e}+O\left(\frac{1}{\log \log n}\right)
$$

where $p_{k}$ denote the $k$ th prime.
In this paper, we are motivated by studying Carleman's inequality over the values of arithmetical functions, more precisely, over the values of Euler function $\varphi$, sum of divisors function $\sigma$, and their reciprocals. For each positive arithmetical function $f$ let

$$
C_{f}(n)=\frac{\sum_{k=1}^{n}(f(1) \cdots f(k))^{\frac{1}{k}}}{\sum_{k=1}^{n} f(k)}
$$

We prove the following results, providing non-trivial limit values $\lim _{n \rightarrow \infty} C_{f}(n)$ for the above mentioned arithmetical functions.

THEOREM 1. As $n \rightarrow \infty$ we have

$$
\begin{equation*}
C_{\varphi}(n)=\eta_{\varphi}+\eta_{\varphi} \frac{\log n}{n}+O\left(\frac{(\log n)^{\frac{2}{3}}(\log \log n)^{\frac{4}{3}}}{n}\right) \quad \text { with } \quad \eta_{\varphi}=\frac{\pi^{2}}{6 \mathrm{e}} \prod_{p}\left(1-\frac{1}{p}\right)^{\frac{1}{p}} \tag{2}
\end{equation*}
$$

[^0]and
\[

$$
\begin{equation*}
C_{\frac{1}{\varphi}}(n)=\eta_{\frac{1}{\varphi}}+O\left(\frac{1}{\log n}\right) \quad \text { with } \quad \eta_{\frac{1}{\varphi}}=\frac{2 \mathrm{e} \pi^{4}}{315 \zeta(3)} \prod_{p}\left(1-\frac{1}{p}\right)^{-\frac{1}{p}} \tag{3}
\end{equation*}
$$

\]

THEOREM 2. As $n \rightarrow \infty$ we have

$$
\begin{equation*}
C_{\sigma}(n)=\eta_{\sigma}+O\left(\frac{1}{\log n}\right) \quad \text { with } \quad \eta_{\sigma}=\frac{6}{\mathrm{e} \pi^{2}} \prod_{p}\left(1+\frac{1}{p}\right)^{\frac{1}{p}} \prod_{\substack{p^{\alpha} \\ \alpha \geqslant 2}}\left(\frac{p^{\alpha+1}-1}{p^{\alpha+1}-p}\right)^{\frac{1}{p^{\alpha}}} \tag{4}
\end{equation*}
$$

and

$$
\begin{equation*}
C_{\frac{1}{\sigma}}(n)=\eta_{\frac{1}{\sigma}}+O\left(\frac{\log \log n}{\log n}\right) \quad \text { with } \quad \eta_{\frac{1}{\sigma}}=\frac{\mathrm{e} \prod_{p}\left(1+\frac{1}{p}\right)^{-\frac{1}{p}} \prod_{\substack{p^{\alpha} \\ \alpha \geqslant 2}}\left(\frac{p^{\alpha+1}-1}{p^{\alpha+1}-p}\right)^{-\frac{1}{p^{\alpha}}}}{\prod_{p}\left(1-\frac{(p-1)^{2}}{p} \sum_{\alpha=1}^{\infty} \frac{1}{\left(p^{\alpha}-1\right)\left(p^{\alpha+1}-1\right)}\right)} . \tag{5}
\end{equation*}
$$

The above theorems imply that the constant of Carleman's inequality over the values of $\varphi, \frac{1}{\varphi}, \sigma$ and $\frac{1}{\sigma}$ is not the best possible. More precisely, computations running on Maple, give

$$
\eta_{\varphi} \cong 0.3388, \quad \eta_{\frac{1}{\varphi}} \approx 2.2096, \quad \eta_{\sigma} \approx 0.3493, \quad \eta_{\frac{1}{\sigma}} \cong 2.2721
$$

## 2 Proofs

During the proofs, for given positive function $f$ we let $G_{f}(n)$ denote the geometric mean of the numbers $f(1), f(2), \ldots, f(n)$. Hence

$$
G_{f}(n):=(f(1) f(2) \cdots f(n))^{\frac{1}{n}}
$$

and

$$
\begin{equation*}
C_{f}(n)=\frac{\sum_{k=1}^{n} G_{f}(k)}{\sum_{k=1}^{n} f(k)} \tag{6}
\end{equation*}
$$

Also, we note that

$$
G_{\frac{1}{f}}(n):=\left(\frac{1}{f(1)} \frac{1}{f(2)} \cdots \frac{1}{f(n)}\right)^{\frac{1}{n}}=\frac{1}{G_{f}(n)}
$$

Therefore

$$
\begin{equation*}
C_{\frac{1}{f}}(n)=\frac{\sum_{k=1}^{n} \frac{1}{G_{f}(k)}}{\sum_{k=1}^{n} \frac{1}{f(k)}} \tag{7}
\end{equation*}
$$

The asymptotic expansion

$$
\begin{equation*}
\frac{1}{1+x}=1-x+x^{2}-\cdots+(-1)^{r} x^{r}+O\left(x^{r+1}\right) \quad(x \rightarrow 0) \tag{8}
\end{equation*}
$$

which holds for any given integer $r \geqslant 0$, usually will be useful to obtain an asymptotic expansion for $G_{\frac{1}{f}}(n)$ by using asymptotic expansion of $G_{f}(n)$.

PROOF of THEOREM 1. Let

$$
g_{\varphi}=\frac{1}{\mathrm{e}} \prod_{p}\left(1-\frac{1}{p}\right)^{\frac{1}{p}}
$$

where the product runs over all primes. Corollary 2.5 of [8] asserts that

$$
\begin{equation*}
G_{\varphi}(n)=g_{\varphi} n+\frac{g_{\varphi}}{2} \log n+O(\log \log n) \tag{9}
\end{equation*}
$$

Thus

$$
\begin{aligned}
\sum_{k=1}^{n} G_{\varphi}(k) & =g_{\varphi} \sum_{k=1}^{n} k+\frac{g_{\varphi}}{2} \sum_{k=1}^{n} \log k+O\left(\sum_{k=2}^{n} \log \log k\right) \\
& =g_{\varphi}\left(\frac{n^{2}}{2}+\frac{n}{2}\right)+\frac{g_{\varphi}}{2} \log n!+O\left(\int_{2}^{n} \log \log t \mathrm{~d} t\right)
\end{aligned}
$$

Stirling approximation asserts that

$$
n!=\left(\frac{n}{\mathrm{e}}\right)^{n} \sqrt{2 \pi n}\left(1+O\left(\frac{1}{n}\right)\right)
$$

Taking logarithm and simplifying, we get

$$
\log n!=n \log n-n+O(\log n)
$$

Also, since the function $t \mapsto \log \log t$ is strictly increasing on the interval [2, $n$ ] of length $n-2<n$, we obtain

$$
\int_{2}^{n} \log \log t \mathrm{~d} t<n \log \log n
$$

Combining the above approximations, gives

$$
\begin{equation*}
\sum_{k=1}^{n} G_{\varphi}(k)=\frac{g_{\varphi}}{2}\left(n^{2}+n \log n+O(n \log \log n)\right) \tag{10}
\end{equation*}
$$

Chapter IV of [9] provides a proof of the following best known approximation

$$
\sum_{k=1}^{n} \varphi(k)=\frac{3}{\pi^{2}} n^{2}+O\left(n(\log n)^{\frac{2}{3}}(\log \log n)^{\frac{4}{3}}\right)
$$

We use the last approximation, (10), (6) and asymptotic expansion (8) with $r=0$, to write

$$
\begin{aligned}
C_{\varphi}(n) & =\frac{\frac{g_{\varphi}}{2}\left(n^{2}+n \log n+O(n \log \log n)\right)}{\frac{3}{\pi^{2}} n^{2}\left(1+O\left(\frac{(\log n)^{\frac{2}{3}}(\log \log n)^{\frac{4}{3}}}{n}\right)\right)} \\
& =\left(\eta_{\varphi}+\eta_{\varphi} \frac{\log n}{n}+O\left(\frac{\log \log n}{n}\right)\right)\left(1+O\left(\frac{(\log n)^{\frac{2}{3}}(\log \log n)^{\frac{4}{3}}}{n}\right)\right)
\end{aligned}
$$

from which we obtain (2).
To prove (3) we use (9) and the approximation (8) with $r=1$, to write

$$
G_{\frac{1}{\varphi}}(n)=\frac{1}{G_{\varphi}(n)}=\frac{1}{g_{\varphi} n\left(1+\frac{\log n}{2 n}+O\left(\frac{\log \log n}{n}\right)\right)}=\frac{1}{g_{\varphi} n}-\frac{1}{2 g_{\varphi}} \frac{\log n}{n^{2}}+O\left(\frac{\log \log n}{n^{2}}\right)
$$

Hence, by using the approximation $\sum_{k=1}^{n} \frac{1}{k}=\log n+O(1)$, we get

$$
\sum_{k=1}^{n} G_{\frac{1}{\varphi}}(k)=\frac{1}{g_{\varphi}} \log n+O(1)
$$

Also, it is known [3] that

$$
\sum_{k=1}^{n} \frac{1}{\varphi(k)}=A_{1} \log n+A_{1}\left(\gamma-B_{1}\right)+O\left(\frac{(\log n)^{\frac{2}{3}}}{n}\right)
$$

where $A_{1}=\frac{\zeta(2) \zeta(3)}{\zeta(6)}=\frac{315 \zeta(3)}{2 \pi^{4}}, B_{1}=\sum_{p} \frac{\log p}{p^{2}-p+1}$, and $\gamma$ is Euler's constant. The relation (7), the above approximations, and (8) with $r=1$, give

$$
\begin{aligned}
C_{\frac{1}{\varphi}}(n) & =\frac{\frac{1}{g_{\varphi}} \log n+O(1)}{A_{1} \log n+A_{1}\left(\gamma-B_{1}\right)+O\left(\frac{(\log n)^{\frac{2}{3}}}{n}\right)} \\
& =\frac{\frac{1}{g_{\varphi}} \log n\left(1+O\left(\frac{1}{\log n}\right)\right)}{A_{1} \log n\left(1+\frac{\gamma-B_{1}}{\log n}+O\left(\frac{1}{n(\log n)^{\frac{1}{3}}}\right)\right)} \\
& =\frac{1}{A_{1} g_{\varphi}}\left(1+O\left(\frac{1}{\log n}\right)\right)\left(1+\frac{B_{1}-\gamma}{\log n}+O\left(\frac{1}{(\log n)^{2}}\right)\right)=\eta_{\frac{1}{\varphi}}+O\left(\frac{1}{\log n}\right)
\end{aligned}
$$

concluding the proof.
PROOF of THEOREM 2. Theorem 1.1 of [4] asserts that

$$
\begin{equation*}
\sum_{k \leqslant n} \log \sigma(k)=n \log n+\left(E+c_{1}+c_{2}+\gamma-1\right) n+O\left(\frac{n}{\log n}\right) \tag{11}
\end{equation*}
$$

where $E$ is the constant in Mertens' approximation, defined by

$$
E=\lim _{x \rightarrow \infty} \sum_{p \leqslant x} \frac{\log p}{p}-\log x
$$

and $c_{1}$ and $c_{2}$ are absolute constants defined by

$$
\begin{equation*}
c_{1}=\sum_{p} \frac{1}{p} \log \left(1+\frac{1}{p}\right), \quad \text { and } \quad c_{2}=\sum_{\substack{p^{\alpha} \\ \alpha \geqslant 2}} \frac{1}{p^{\alpha}} \log \frac{p^{\alpha+1}-1}{p^{\alpha}-1} \tag{12}
\end{equation*}
$$

It is known (see (2.8) of [1]) that

$$
\begin{equation*}
E=-\gamma-\sum_{\substack{p^{\alpha} \\ \alpha \geqslant 2}} \frac{\log p}{p^{\alpha}} \tag{13}
\end{equation*}
$$

Note that $n \log G_{\sigma}(n)=\sum_{k \leqslant n} \log \sigma(k)$. Hence (11) implies that

$$
\begin{equation*}
G_{\sigma}(n)=g_{\sigma} n+O\left(\frac{n}{\log n}\right) \tag{14}
\end{equation*}
$$

where $g_{\sigma}=\mathrm{e}^{E+c_{1}+c_{2}+\gamma-1}$. By using (12) and (13) we get

$$
g_{\sigma}=\frac{1}{\mathrm{e}} \prod_{p}\left(1+\frac{1}{p}\right)^{\frac{1}{p}} \prod_{\substack{p^{\alpha} \\ \alpha \geqslant 2}}\left(\frac{p^{\alpha+1}-1}{p^{\alpha+1}-p}\right)^{\frac{1}{p^{\alpha}}}
$$

Thus

$$
\begin{aligned}
\sum_{k=1}^{n} G_{\sigma}(k) & =g_{\sigma} \sum_{k=1}^{n} k+O\left(\sum_{k=2}^{n} \frac{k}{\log k}\right) \\
& =g_{\sigma}\left(\frac{n^{2}}{2}+\frac{n}{2}\right)+O\left(\int_{2}^{n} \frac{t}{\log t} \mathrm{~d} t\right)
\end{aligned}
$$

Note that

$$
\int_{2}^{n} \frac{t}{\log t} \mathrm{~d} t \leqslant 2 \int_{2}^{n}\left(\frac{t}{\log t}-\frac{t}{2 \log ^{2} t}\right) \mathrm{d} t=\left.\frac{t^{2}}{\log t}\right|_{2} ^{n}<\frac{n^{2}}{\log n}
$$

Hence

$$
\begin{equation*}
\sum_{k=1}^{n} G_{\sigma}(k)=\frac{g_{\sigma}}{2} n^{2}+O\left(\frac{n^{2}}{\log n}\right) \tag{15}
\end{equation*}
$$

Chapter III, Section 2 of [9] provides a proof of the following best known approximation

$$
\sum_{k=1}^{n} \sigma(k)=\frac{\pi^{2}}{12} n^{2}+O\left(n(\log n)^{\frac{2}{3}}\right)
$$

Considering this approximation and (15), using (6) and asymptotic expansion (8) with $r=0$, we obtain (4).

Now, we prove (5). The approximation (14) and the asymptotic expansion (8) with $r=0$ give

$$
G_{\frac{1}{\sigma}}(n)=\frac{1}{G_{\sigma}(n)}=\frac{1}{g_{\sigma} n+O\left(\frac{n}{\log n}\right)}=\frac{1}{g_{\sigma} n}+O\left(\frac{1}{n \log n}\right)
$$

Hence

$$
\begin{aligned}
\sum_{k=1}^{n} G_{\frac{1}{\sigma}}(k) & =\frac{1}{g_{\sigma}} \sum_{k=1}^{n} \frac{1}{k}+O\left(\sum_{k=2}^{n} \frac{1}{k \log k}\right) \\
& =\frac{1}{g_{\sigma}} \log n+O(1)+O\left(\int_{2}^{n} \frac{\mathrm{~d} t}{t \log t}\right)=\frac{1}{g_{\sigma}} \log n+O(\log \log n)
\end{aligned}
$$

Corollary 4.1 of [6] asserts that

$$
\sum_{k=1}^{n} \frac{1}{\sigma(k)}=A_{2} \log n+A_{2}\left(\gamma+B_{2}\right)+O\left(\frac{(\log n)^{\frac{2}{3}}(\log \log n)^{\frac{4}{3}}}{n}\right)
$$

where

$$
A_{2}=\prod_{p}\left(1-\frac{(p-1)^{2}}{p} S_{1}(p)\right) \quad \text { and } \quad B_{2}=\sum_{p} \frac{(p-1)^{2}(\log p) S_{2}(p)}{p-(p-1)^{2} S_{1}(p)}
$$

with

$$
S_{1}(p)=\sum_{\alpha=1}^{\infty} \frac{1}{\left(p^{\alpha}-1\right)\left(p^{\alpha+1}-1\right)} \quad \text { and } \quad S_{2}(p)=\sum_{\alpha=1}^{\infty} \frac{\alpha}{\left(p^{\alpha}-1\right)\left(p^{\alpha+1}-1\right)}
$$

Therefore, the above approximations and asymptotic expansion (8) with $r=0$ imply

$$
\begin{aligned}
C_{\frac{1}{\sigma}}(n) & =\frac{\frac{1}{g_{\sigma}} \log n+O(\log \log n)}{A_{2} \log n+A_{2}\left(\gamma+B_{2}\right)+O\left(\frac{(\log n)^{\frac{2}{3}}(\log \log n)^{\frac{4}{3}}}{n}\right)} \\
& =\frac{1}{g_{\sigma} A_{2}}\left(1+O\left(\frac{\log \log n}{\log n}\right)\right)\left(1-\frac{\gamma+B_{2}}{\log n}+O\left(\frac{1}{(\log n)^{2}}\right)\right)=\eta_{\frac{1}{\sigma}}+O\left(\frac{\log \log n}{\log n}\right) .
\end{aligned}
$$

This completes the proof.
Acknowledgment. I express my gratitude to the anonymous referee(s) for careful reading of the manuscript and giving the valuable suggestions and corrections. The author was supported by a grant of the University of Zanjan, research project number 9648.

## References

[1] J. B. Rosser and L. Schoenfeld, Approximate formulas for some functions of prime numbers, Illinois J. Math., 6(1962), 64-94.
[2] M. Hassani, Carleman's inequality over prime numbers, Proceeding of 49th Annual Iranian Mathematical Conference, Tehran (2018), 1746-1749.
[3] R. Sitaramachandrarao, On an error term of Landau, Indian J. Pure Appl. Math., 13(1982), 882-885.
[4] M. Hassani and M. R. Esfandiari, On the geometric mean of the sum divisors function, Proceeding of 47th Annual Iranian Mathematical Conference, Karaj (2016), 5 Pages.
[5] M. Hassani, On the ratio of the arithmetic and geometric means of the prime numbers and the number e, Int. J. Number Theory, 9(2013), 1593-1603.
[6] V. Sita Ramaiah and D. Suryanarayana, Sums of reciprocals of some multiplicative functions, Math. J. Okayama Univ., 21(1979), 155-164.
[7] T. Carleman, Sur les fonctions quasi-analytiques, Conférences faites au cinquième congres des mathématiciens Scandinaves, Helsinki (1923), 181-196.
[8] M. Hassani, Uniform distribution modulo one of some sequences concerning the Euler function, Rev. Un. Mat. Argentina, 54(2013), 55-68.
[9] A. Walfisz, Weylsche exponentialsummen in der neueren zahlentheorie, Mathematische Forschungsberichte, XV. VEB Deutscher Verlag der Wissenschaften, Berlin, 1963.


[^0]:    *Mathematics Subject Classifications: 11A25, 11N56.
    ${ }^{\dagger}$ Department of Mathematics, University of Zanjan, University Blvd., 45371-38791, Zanjan, Iran

